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ÍÛæ̃ Û¶ÛÛ :   ÈÛíéßÛÛÜ¶Ûïõ •Û¨Û¶ÛýÛ×ªÛ ÈÛÛ¸ÛÁõà ÉÛïõÛÉÛé. 
Instruction : Use of scientific calculator is permitted. 
 
1. (A) ÁõÛéïõÛ¨Û ÍÛ×˜ÛÛÅÛ¶Û …é¤øÅÛé ÉÛä× ? ÁõÛéïõÛ¨Û ¾ÛÛ¤éø¶ÛÛ ¦øÛýÛÁéõî¤ø ¾ÛÛé¦ø …¶Ûé ˆ¶¦øÛýÛÁéõî¤ø ¾ÛÛé¦ø ©Ûé¾Û¶Ûà 

ÍÛÛ¬Ûé ÍÛ×ïõÇÛýÛéÅÛ ›Ûé”Û¾Û …¶Ûé ÈÛÇ©ÛÁõ ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé. 7 
  What is Investment Management ? Explain the difference between Direct Mode 

and Indirect Mode of Investment with reference to the risk and return 
components associated with them. 

…¬ÛÈÛÛ/OR 
  ¦éøÁõàÈÛé¤øàÈ¡ö …é¤øÅÛé ÉÛä× ? ¦éøÁõàÈÛé¤øàÈ¡ö¶ÛÛ ÜÈÛÜÈÛµÛ ¸ÛóïõÛÁõÛé ©Ûé¾Û¶ÛÛ ¾Ûä”ýÛ ÅÛ“Û¨ÛÛé ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé. 
  What are Derivatives ? Explain the different types of derivatives and their major 

characteristics. 
 (B) •Û¾Ûé ©Ûé ¼Ûé ÅÛ”ÛÛé : 4 
  Attempt any two : 
  (1) ÁõÛéïõÛ¨Û, ›ä÷•ÛÛÁõ …¶Ûé Í¸ÛéîýÛäÅÛéÉÛ¶Û ÈÛ˜˜Ûé ©ÛºõÛÈÛ©Û ÍÛ¾Û›ÛÈÛÛé. 
   Explain the difference between Investment, Gambling and Speculation. 
  (2) ¾ýÛä˜ýÛä…ÅÛ º×õ¦ø …é¤øÅÛé ÉÛä× ? ¾ýÛä˜ýÛä…ÅÛ º×õ¦ø¶ÛÛ ÅÛÛ½ÛÛé …¶Ûé •ÛéÁõÅÛÛ½ÛÛé ÍÛ¾Û›ÛÈÛÛé. 
   What is a Mutual Fund ? Explain the advantages and disadvantages of a 

Mutual Fund. 
  (3) ¸ÛÛé¤ÙøºõÛéÅÛàýÛÛé ÍÛ×˜ÛÛÅÛ¶Û ¸ÛóÜ’õýÛÛ ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé. 
   Describe briefly the Portfolio Management Process. 
 (C) …éïõ …¬ÛÈÛÛ ¼Ûé ÈÛÛîýÛÛé¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé. 3 
  Answer in one or two lines only : 
  (1) ¸ÛóÛ¬ÛÜ¾Ûïõ ¼Û›ÛÁõ …¶Ûé •ÛÛíé¨Û ¼Û›ÛÁõ ÈÛ˜˜Ûé ©ÛºõÛÈÛ©Û ÍÛ¾Û›ÛÈÛÛé. 
   Distinguish between Primary Market and Secondary Market. 
  (2) …éïõ ÁéõÉÛ¶ÛÅÛ ÁõÛéïõÛ¨ÛïõÛÁõ¶ÛÛ Ðéü©Ûä…Ûé …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ÅÛ”ÛÛé. 
   State the objectives and constraints of a rational investor. 
  (3) ÜÍÛîýÛÛéÜÁõ¤øà ¸Ûè¬Û‘õÁõ¨Û …¶Ûé ¸ÛÛé¤ÙøºõÛéÅÛàýÛÛé ÍÛ×˜ÛÛÅÛ¶Û ÈÛ˜˜Ûé ©ÛºõÛÈÛ©Û ÍÛ¾Û›ÛÈÛÛé. 
   Distinguish between Security Analysis and Portfolio management. 
 
2. (A) EMH …é¤øÅÛé ÉÛä× ? EMH¶ÛÛ ÜÈÛÜÈÛµÛ ¸ÛóïõÛÁõÛé …¶Ûé ©Ûé¶Ûà ÁõÛéïõÛ¨ÛïõÛÁõÛé ¸ÛÁõ …ÍÛÁõÛé ÍÛ¾Û›ÛÈÛÛé. 7 
  What is EMH ? Describe different forms of EMH and its implications to the 

investors. 
…¬ÛÈÛÛ/OR 
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  …ÛÜ¬ÛÙïõ Ü¶ÛþëùÉÛïõ …é¤øÅÛé ÉÛä× ? ÈýÛÛ¸ÛÛÁõ ÍÛÛýÛïõÅÛ¶ÛÛ ¸Û•ÛÜ¬ÛýÛÛ× …¶Ûé …ÛÜ¬ÛÙïõ ºéõÁõºõÛÁõÛé¶ÛÛ ÍÛ¾ÛýÛ 
¾Ûä›÷¼Û …ÛÜ¬ÛÙïõ Ü¶ÛþëùÉÛïõÛé¶Ûä× ÈÛ•ÛâïõÁõ¨Û ÍÛ¾Û›ÛÈÛÛé. 

  What is an Economic Indicator ? Give the classification of economic indicators 
with reference to stages of the business cycle and timing of changes in relation to 
the changes in the economy.  

 (B) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 4 
  Attempt any two : 
  (1) ¤éøïõÜ¶ÛïõÅÛ ¸Ûè¬Û‘õÁõ¨Û …é¤øÅÛé ÉÛä× ? ¤éøïõÜ¶ÛïõÅÛ ¸Ûè¬Û‘õÁõ¨Û¶Ûà Dow Theory ÍÛ¾Û›ÛÈÛÛé. 
   What is Technical Analysis ? Describe briefly the Dow Theory of 

Technical Anlaysis. 
  (2) Black-Scholes Option Princing Model ¤æ×øïõ¾ÛÛ× ÈÛ¨ÛÙÈÛÛé. 
   Describe briefly the Black-Scholes Option Pricing Model. 
  (3) Cox Limited¶ÛÛ ÉÛéÁõ¶ÛÛé ÐüÛÅÛ¶ÛÛé ½ÛÛÈÛ ` 50 ÉÛéÁõþùà¥ø ™öé. …ÛÈÛ©ÛÛ ÈÛÌÛÙ¶Ûä× …¸ÛéÜ“Û©Û 

Ü¦øÜÈÛ¦ø¶¦ø ` 3.00 ™öé. ÁõÛéïõÛ¨ÛïõÛÁõ¶Ûä× ›÷ÄõÁõà ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ 10 ¤øïõÛ ™öé. ›Ûé Cox 
Limited¶Ûé …˜ÛÇ •ÛóÛé¬Û ¾ÛÛé¦éøÅÛ ÅÛÛ•Ûä ¸Û¦éø ©ÛÛé ©Ûé¶ÛÛé …¸ÛéÜ“Û©Û •ÛóÛé¬Û Áéõ¤ø ÉÛä× ¬ÛÉÛé ? 

   The equity stock of Cox Limited is currently selling for ` 50 per share. The 
dividend expected next year is ` 3.00. The investor’s required rate of return 
on this stock is 10 percent. If the constant growth model applies to Cox 
Limited, what is the expected growth rate ? 

 (C) …éïõ …¬ÛÈÛÛ ¼Ûé ÈÛÛîýÛÛé¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 3 
  Answer in one or two lines only : 
  (1) …Ûíé²ÛéÜ•Ûïõ ¸Ûè¬Û‘õÁõ¨Û ¾ÛÛ¤éø¶Ûà Áõà©ÛÛé ÅÛ”ÛÛé. 
   State the Tools of Industry Analysis. 
  (2) Relative Strength Index¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 
   Define : Relative Strength Index. 
  (3) Systematic ›Ûé”Û¾Û …¶Ûé Unsystematic ›Ûé”Û¾Û ÈÛ˜˜Ûé ©ÛºõÛÈÛ©Û ÍÛ¾Û›ÛÈÛÛé. 
   Distinguish between Systematic Risk and Unsystematic Risk. 
 
3. …éïõ ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×Í¬ÛÛ¶ÛÛ ¾Ûé¶Ûé›÷¾Ûé¶¤ø ¤Öéø¶Ûà ©ÛÁõàïéõ ©Û¾ÛÛÁéõ ¶Ûà˜Ûé …Û¸ÛéõÅÛ ¼Ûé ï×õ¸Û¶Ûà…Ûé¶ÛÛ ÉÛéÁõ¶Ûà Ýïõ¾Û©ÛÛé 

…¶Ûé NSE index¶Ûä× ¸Ûè¬Û‘õÁõ¨Û ïõÁõÈÛÛ¶Ûä× ™öé. 14 
 As a management trainee of a financial institution, you have to analyse the share 

prices of two companies along with the NSE index. 
Company A Stock Prices Company B Stock Prices NSE 

24.00 50.38 857.07
25.00 48.88 862.46
23.63 47.75 858.89
23.63 48.88 861.33
25.00 51.38 853.78
26.75 48.50 872.02
27.25 55.38 859.68
26.00 54.28 871.91
26.70 55.28 878.53
27.70 41.38 807.23
25.60 48.30 877.72
24.50 49.50 893.82
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 (a) ïõýÛÛ Í¤øÛéïõ¶Ûä× ÍÛÁéõÁõÛÉÛ ÈÛÇ©ÛÁõ ÈÛµÛä ™öé ? 

  Which stock has higher average return ? 

 (b) Stock A …¶Ûé Stock B¶ÛÛ ÈÛÇ©ÛÁõÛé¶Ûä× ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û ÉÛä× ™öé ? 

  What are the standard deviations of returns for stock A and stock B ? 

 (c) Stock A …¶Ûé Stock B¶ÛÛ ÈÛÇ©ÛÁõÛé ÈÛ˜˜Ûé¶Ûä× ÍÛÐüÜÈÛ˜ÛÁõ¨Û ÉÛä× ™öé ? 

  What is the co-variance between the returns of stock A and stock B ? 

 (d) ›Ûé ÁõÛéïõÛ¨ÛïõÛÁõ Stock A¾ÛÛ× 40% …¶Ûé Stock B¾ÛÛ× 60% ÁõÛéïéõ ©ÛÛé ©Ûé¶ÛÛ ¸ÛÛé¤ÙøºõÛéÅÛàýÛÛé¶Ûä× 
ÈÛÇ©ÛÁõ …¶Ûé ¸ÛÛé¤ÙøºõÛéÅÛàýÛÛé ›Ûé”Û¾Û ÉÛä× ™öé ? 

  If the investor allocates 40% of his investment outlay in stock A and 60% in 
stock B then what are the portfolio return and portfolio risk ? 

 (e) ïõýÛÛ Í¤øÛéïõ¶Ûä× Systematic ›Ûé”Û¾Û Beta ÈÛµÛä ™öé ? 

  Which stock has higher systematic risk in terms of Beta ? 

…¬ÛÈÛÛ/OR 

 (A) ¶Ûà˜Ûé U.K. ÍÛÁõïõÛÁõ¶ÛÛ T-bills …¶Ûé U.K.¶ÛÛ …éïõ Í¤øÛéïõ¶ÛÛ ÈÛÛÜÌÛÙïõ ÈÛÇ©ÛÁõ¶ÛÛ þùÁõÛé …Û¸ÛéÅÛ    
™öé :   7 

  The following are annual rates of return for U.S. government T-bills and U.K. 
common stocks. 

Year T-Bills Stock A

2003 0.063 0.150 

2004 0.081 0.043 

2005 0.076 0.374 

2006 0.090 0.192 

2007 0.085 0.106 

  (1) …Û ¼Û·Ûé ¾ÛÛ¤éø ÍÛÁéõÁõÛÉÛ ÈÛÇ©ÛÁõ …¶Ûé ÈÛÇ©ÛÁõ¶ÛÛ ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶ÛÛé ¾ÛéÇÈÛÛé. 

   Compute the arithmetic mean rate of return and standard deviation of rates 
of return for the two series. 

  (2) …Û ¼Û·Ûé ÁõÛéïõÛ¨ÛÛé¶Ûé ©Ûé¾Û¶ÛÛ ÍÛÁéõÁõÛÉÛ ÈÛÇ©ÛÁõ, Ü¶ÛÁõ¸Ûé“Û ›Ûé”Û¾Û …¶Ûé ÍÛÛ¸Ûé“Û ›Ûé”Û¾Û¶Ûà 
ÍÛÁõ”ÛÛ¾Û¨Ûà ïõÁõÛé. 

   Discuss these two alternative investments in terms of their arithmetic 
average rates of return, their absolute risk, and their relative risk. 

  (3) þùÁéõïõ ÁõÛéïõÛ¨Û¶ÛÛ ÈÛÇ©ÛÁõÛé¶ÛÛé •Ûä¨ÛÛé«ÛÁõ ¾ÛµýÛïõ ÉÛÛéµÛÛé. ©Ûé¾Û¶ÛÛ ÍÛÁéõÁõÛÉÛ ¾ÛµýÛïõ …¶Ûé •Ûä¨ÛÛé«ÛÁõ 
¾ÛµýÛïõÛé¶Ûà ÍÛÁõ”ÛÛ¾Û¨Ûà ïõÁõÛé …¶Ûé …Û ¾ÛµýÛïõÛé¶ÛÛé ©ÛºõÛÈÛ©Û þùÁéõïõ¶ÛÛ ¸ÛóÛ¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û¶ÛÛ 
ÍÛÛ¸Ûé“Û¾ÛÛ× ïéõ¤øÅÛÛé ™öé ©Ûé ˜Û˜ÛÛë. 

   Compute the geometric mean rate of return for each of these investments. 
Compare the arithmetic mean return and geometric mean return for each 
investment and discuss this difference between mean returns as related to 
the standard deviation of each series. 
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 (B) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 4 
  Attempt any two :  

(1)  ¶Ûà˜Ûé …Û¸ÛéÅÛ ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà Stock A …¶Ûé Stock B¶ÛÛ …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõÛé …¶Ûé 
ÈÛÇ©ÛÁõÛé¶ÛÛ ¸ÛóÛ¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶ÛÛé ¾ÛéÇÈÛÛé : 

   From the data given below, obtain the expected returns, standard deviation 
of returns of stock A and stock B. 

i RA RB pi 

1 0.25 0.45 0.20 

2 0.10 0.05 0.50 

3 – 0.10 – 0.15 0.30 

  (2) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà Stock A, Stock B …¶Ûé Stock C¶ÛÛ ¸ÛÛé¤ÙøºõÛéÅÛàýÛÛé¶Ûä× 
…¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ …¶Ûé ¸ÛÛé¤ÙøºõÛéÅÛàýÛÛé¶Ûä× ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û ¾ÛéÇÈÛÛé, šýÛÛ× Stock A¾ÛÛ× 45 
¤øïõÛ, Stock B¾ÛÛ× 35 ¤øïõÛ …¶Ûé Stock C¾ÛÛ× ¼ÛÛïõà¶Ûà Áõïõ¾Û ÁõÛéïéõÅÛ ™öé : 

   Given the following information, calculate the expected return and 
standard deviation for a portfolio that has 45 percent invested in Stock A, 
35 percent in Stock B, and the balance in Stock C.   

State of 
Economy 

Probability Returns of 
Stock A 

Returns of 
Stock B 

Returns of 
Stock C 

Boom 0.70 15% 18% 20% 

Bust 0.30 10% 10% –10% 

  (3) Sharpe¶Ûä× Single Index Model ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé.  
   Explain briefly Sharpe’s Single Index Model of Portfolio construction. 
 (C) …éïõ …¬ÛÈÛÛ ¼Ûé ÈÛÛîýÛÛé¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 3 
  Answer in one or two lines only : 
  (1) ¤éøïõÜ¶ÛïõÅÛ ¸Ûè¬Û‘õÁõ¨Û¾ÛÛ× ÈÛ¸ÛÁõÛ©ÛÛ× ÜÈÛÜÈÛµÛ …ÛÅÛé”ÛÛé þùÉÛÛÙÈÛÛé. 
   State the different chart patterns used in Technical Analysis. 
  (2) ˆ¶¤ÖøàÜ¶ÍÛïõ Ýïõ¾Û©Û¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 
   Define : Intrinsic value. 
  (3) r = + 1 …¶Ûé r = – 1 ¶Ûä× …¬ÛÙ–Û¤ø¶Û ïõÁõÛé, šýÛÛ× r …é ¼Ûé ÜÍÛî¤øÛéÜÁõ¤øà¶ÛÛ ÈÛÇ©ÛÁõ ÈÛ˜˜Ûé¶ÛÛé 

ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ ™öé. 
   Interpret : r = + 1 and r = –1 where r is the correlation coefficient between 

the returns of any two securities. 
 
4. (A) APT model ©Ûé¶Ûà µÛÛÁõ¨ÛÛ…Ûé …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé. ©Ûé¾Û›÷ ©Ûé CAPM¬Ûà ïõˆ 

Áõà©Ûé ›ä÷þäù ¸Û¦éø ™öé ©Ûé ÍÛ¾Û›ÛÈÛÛé. 7 
  Explain in detail APT model along with its assumptions and limitations. Also 

explain how it differs from CAPM. 
…¬ÛÈÛÛ/OR 

  ¸ÛÛé¤ÙøºõÛéÅÛàýÛÛé ¼Û¶ÛÛÈÛÈÛÛ ¾ÛÛ¤éø¶ÛÛé Markowitz¶ÛÛé …Ü½Û•Û¾Û ÍÛ¾Û›ÛÈÛÛé. 
  Explain in detail Markowitz approach to Portfolio construction. 
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 (B) •Û¾Ûé ©Ûé ¼Ûé ÅÛ”ÛÛé : 4 

  Attempt any two : 
  (1) Two fund Separation Theorem ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé. 
   Explain briefly the Two Fund Separation Theorem. 
  (2) Capital Market Theory¶Ûà µÛÛÁõ¨ÛÛ…Ûé ÅÛ”ÛÛé. 
   State the assumptions of Capital Market Theory. 
  (3) ¸ÛÛé¤ÙøºõÛéÅÛàýÛÛé¶ÛÛ ¸ÛÁõºõÛé¾ÛÙ¶ÍÛ ˆÈÛéÅýÛä…éÉÛ¶Û¶ÛÛ ¾ÛÛ¸ÛÛé ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé. 
   Explain briefly the measures of Portfolio Performance Evaluation. 
 (C) …éïõ …¬ÛÈÛÛ ¼Ûé ÈÛÛîýÛÛé¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 3 
  Answer in one or two lines only : 
  (1) Efficient Frontier¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 
   Define Efficient Frontier. 
  (2) ÁõÛéïõÛ¨ÛïõÛÁõÛé¶ÛÛ ©ÛèÌ¤øà•Ûä¨Û ÈÛ’õÛé¶ÛÛ •Ûä¨ÛµÛ¾ÛÛë ÅÛ”ÛÛé. 
   State the properties of Investor’s Utility Curves. 
  (3) …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ …¶Ûé ›÷ÄõÁõà ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ ÈÛ˜˜Ûé ©ÛºõÛÈÛ©Û ÍÛ¾Û›ÛÈÛÛé. 
   Distinguish between Expected Rate of Return and Required Rate of 

Return. 
 
5. Multiple Choice questions : 14 
 Multiple Choice Questions : 
 (1) ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û ¾ÛÛ¤éø ¶Ûà˜Ûé¶Ûä× ïõýÛä× ÜÈÛµÛÛ¶Û ÍÛÛ˜Ûä× ™öé ? 
  (a) …é ÜÈÛ˜ÛÁõ¨Û¶ÛÛé ÈÛ•ÛÙ ™öé. 
  (b) ©Ûé µÛ¶Û …¬ÛÈÛÛ Þô¨Û ÐüÛéˆ ÉÛïéõ ™öé. 
  (c) ©Ûé ¾ÛæÇ ¾ÛÛÜÐü©Ûà¶ÛÛ …éïõ¾ÛÛé¾ÛÛ×›÷ ¾Û¸ÛÛýÛ ™öé. 
  (d) ©Ûé ¾ÛµýÛïõ¾ÛÛ×¬Ûà ÅÛàµÛéÅÛ ©ÛºõÛÈÛ©ÛÛé¶ÛÛ ÈÛ•ÛÙ¶ÛÛé ÍÛÁéõÁõÛÉÛ ¾ÛµýÛïõ ™öé. 
  Which of the following statements about standard deviation is true ? 
  (a) Is the square of the variance.  
  (b) Can be a positive or negative number.  
  (c) Is denominated in the same units as the original data. 
  (d) Is the arithmetic mean of the squared deviations from the mean. 
 (2) …éïõ ÁõÛéïõÛ¨Û¾ÛÛ× …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ 12 ¤øïõÛ …¶Ûé ©Ûé¶Ûä× ¸ÛóÛ¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û 10 ¤øïõÛ ™öé. ›Ûé …Û 

ÈÛÇ©ÛÁõ ¸ÛóÛ¾ÛÛ¨ýÛ ÜÈÛ©ÛÁõ¨Û¶Ûé …¶ÛäÍÛÁõ©ÛÛ ÐüÛéýÛ ©ÛÛé 2 ¤øïõÛ¬Ûà …Ûé™ä×ö ÈÛÇ©ÛÁõ ¾ÛÇé ©Ûé¶Ûà ÍÛ×½ÛÛÈÛ¶ÛÛ 
________ ¶Ûé ¶Ûœ÷ïõ ™öé. 

  (a) 10 ¤øïõÛ (b) 16 ¤øïõÛ 
  (c) 32 ¤øïõÛ (d) 34 ¤øïõÛ 
  An investment strategy has an expected return of 12 percent and a standard 

deviation of 10 percent. If the investment returns are normally distributed, the 
probability of earning a return less than 2 percent is closest to : 

  (a) 10 percent (b) 16 percent 
  (c) 32 percent (d) 34 percent 
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 (3) Active ÁõÛéïõÛ¨Û ¶ÛàÜ©Û ÍÛÛ¬Ûé ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛÛ Factors, strategy …¬ÛÈÛÛ Tactics ›Ûé¦øÛýÛéÅÛ 
™öé ? 

  (a) Market Timing (b) Asset Allocation 
  (c) Security ¸ÛÍÛ×þù•Ûà (d) Tax status 
  Which of the following factors, strategies, or tactics is most associated with an 

active investment policy ? 

  (a) Market Timing (b) Asset Allocation 

  (c) Security Selection (d) Tax Status 
 (4) Active ÁõÛéïõÛ¨Û ¶ÛàÜ©Û …¶ÛäÍÛÁõ©Ûà ÈÛ”Û©Ûé ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ strategy …¬ÛÈÛÛ tactic¾ÛÛ× ÍÛÛíé¬Ûà 

ÈÛµÛä ÜÁõÍÛÛéÜÍÛÙ¡ö ›÷é¾Ûïéõ ÍÛ¾ÛýÛ, ¾ÛÐéü¶Û©Û ÈÛ•ÛéÁéõ¶Ûà ›÷ÄõÁõ ¸Û¦éø ™öé ? 
  (a) Market Timing (b) Asset Allocation 
  (c) Security Selection (d) Tax Strategy 

  Which of the following investment strategies or tactics will likely consume the 
greatest amount of resources, time, effort, and so on, when implementing an 
active investment policy ? 

  (a) Market Timing  (b) Asset Allocation 

  (c) Security Selection (d) Tax Strategy 
 (5) …éïõ ÁõÛéïõÛ¨ÛïõÛÁõ¶ÛÛ Ü¶Û¨ÛÙýÛ ¸ÛÁõ ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ ÁõÛéïõÛ¨Û ¾ÛýÛÛÙþùÛ¶Ûà ÍÛÛíé¬Ûà ¾ÛæÇ½Ûæ©Û …ÍÛÁõ ¸Û¦éø 

™öé ? 
  (a) ÁõÛéïõÛ¨ÛïõÛÁõ¶Ûä× tax status (b) ÁõÛéïõÛ¨ÛïõÛÁõ¶Ûà ÍÛ¾ÛýÛ ¾ÛýÛÛÙþùÛ 
  (c) ©Ûé¶Ûà liquidity ›÷ÄõÁõ (d) ©Ûé¶ÛÛé ›Ûé”Û¾Û ©ÛÁõºõ¶ÛÛé …Ü½Û•Û¾Û 
  Which of the following investment constraints is expected to have the most 

fundamental impact on the investment decision process for a typical investor ?  

  (a) Investor’s tax status 

  (b) Investor’s time horizon 

  (c) Investor’s need for liquidity 

  (d) Investor’s attitude toward risk 
 (6) ¶Ûà˜Ûé¶Û¾ÛÛ×¬Ûà ïõˆ ¶ÛÛ¨ÛÛ ¼Û›ÛÁõ¶ÛÛ …Ûé›ÛÁõÛé¶Ûä× ÍÛÛ¾ÛÛ¶ýÛ ÅÛ“Û¨Û ¶Û¬Ûà ? 
  (a) ©Ûé ÈÛÇ©ÛÁõÄ¸Ûé ÈÛé˜ÛÛýÛ ™öé. 
  (b) …éïõ ÈÛÌÛÙ ïõÁõ©ÛÛ …Ûé™öÛ ÍÛ¾ÛýÛ¾ÛÛ× ¾Ûé˜ýÛÛéÁõ ¬ÛÛýÛ ™öé. 
  (c) ¦éøºõÛéÅ¤ø ›Ûé”Û¾Û ÍÛÛíé¬Ûà ¾ÛÐü«ÈÛ¶Ûä× ›Ûé”Û¾Û ™öé. 
  (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ ÅÛ“Û¨ÛÛé ÅÛÛ•Ûä ¸Û¦éø ™öé. 
  Which of the following is not a common characteristic of Money Market 

Securities ? 

  (a) Sold on a discount basis. 

  (b) Mature in less than one year. 

  (c) Most important risk is default risk. 

  (d) All of the above are characteristics. 
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 (7) ÁõÛéïõÛ¨ÛïõÛÁõ¶Ûé ÍÛÅÛÛÐü …Û¸Û¶ÛÛÁõ ºõ¾ÛÙ …¶Ûé ¾ýÛä˜ýÛä…ÅÛ º×õ¦ø ÈÛ˜˜Ûé¶ÛÛ ÍÛ×¼Û×µÛ ¾ÛÛ¤éø ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× 
ÍÛÛ˜Ûä× ¶Û¬Ûà ? ÁõÛéïõÛ¨ÛïõÛÁõ¶Ûé ÍÛÅÛÛÐü …Û¸Û¶ÛÛÁõ ºõ¾ÛÙ 

  (a) ¾ýÛä˜ýÛä…ÅÛ º×õ¦ø µÛÁõÛÈÛé ™öé. 
  (b) ¾ýÛä˜ýÛä…ÅÛ º×õ¦ø …éÍÛé¤ø¶Ûä× ÍÛ×˜ÛÛÅÛ¶Û ïõÁéõ ™öé. 
  (c) ÁõÛéïõÛ¨ÛïõÛÁõÛé¶Ûà ”ÛÁõàþù …¶Ûé ÈÛé˜ÛÛ¨Û¶Ûä× ÍÛ×˜ÛÛÅÛ¶Û ïõÁéõ ™öé. 
  (d) ÍÛéÈÛÛ…Ûé ¼ÛþùÅÛ ÍÛ×˜ÛÛÅÛ¶Û ºõà ¾ÛéÇÈÛé ™öé. 
  Which of the following is not true about the typical relationship between a 

mutual fund and an investment advisory firm ? The investment advisory firm 

  (a) Owns the mutual fund. 

  (b) Manages the mutual fund’s assets. 

  (c) Manages shareholder purchase and redemption operations. 

  (d) Receives a management fee for services rendered. 
 (8) ¼Û›ÛÁõ¶Ûà ÍÛ“Û¾Û©ÛÛ¶Ûä× ¶Û¼ÛÇä× ÍÈÛÄõ¸Û ™öé ©Ûé¾Û µÛÛÁõÛé. ©ÛÛé …Û ÍÛ¾ÛýÛ¾ÛÛ× ¤éøïõÜ¶ÛïõÅÛ ¸Ûè¬Û‘õÁõ¨ÛïõÛÁõÛé 

ÜÈÛÉÛéÌÛ ÈÛÇ©ÛÁõ ______ …¶Ûé ¾ÛæÇ½Ûæ©Û ¸Ûè¬Û‘õÁõ¨ÛïõÛÁõÛé ÜÈÛÉÛéÌÛ ÈÛÇ©ÛÁõ ______ 
  (a) ¾ÛéÇÈÛà ÉÛïõÉÛé ; ¾ÛéÇÈÛà ÉÛïõÉÛé 
  (b) ¾ÛéÇÈÛà ÉÛïõÉÛé ; ¾ÛéÇÈÛà ¶ÛÐüà ÉÛïéõ 
  (c) ¾ÛéÇÈÛà ¶ÛÐüà ÉÛïéõ ; ¾ÛéÇÈÛà ¶ÛÐüà ÉÛïéõ 
  (d) ¾ÛéÇÈÛà ¶ÛÐüà ÉÛïéõ ; ¾ÛéÇÈÛà ÉÛïõÉÛé 
  Assume the market is in weak-form of efficient. If this is true, technical analysts 

_____ earn excess returns and fundamental analysts _____ earn excess returns. 

  (a) could; could (b) could; could not 

  (c) could not; could not (d) could not; could 
 (9) Š¸ÛÁõ ©ÛÁõºõ ›÷©Ûà Advance/decline Áéõ”ÛÛ _____ …¶Ûé ¡ö¦ø¸Û¬Ûà ÈÛµÛ©Ûä× Volume ______ ™öé. 
  (a) bearish ; bearish (b) bearish ; bullish 
  (c) bullish ; bullish (d) bullish ; bearish 

  An upward-sloping advance/decline line is considered _______; and a heavy 
advancing volume is considered _______. 

  (a) bearish; bearish (b) bearish; bullish 

  (c) bullish; bullish (d) bullish; bearish 
 (10) Starcents ¶Ûé 5 ¤øïõÛ …¬ÛÈÛÛ 45 ¤øïõÛ ÈÛÇ©ÛÁõ ÍÛ¾ÛÍÛ×½ÛÈÛà Áõà©Ûé ¾ÛÇé ™öé. ©ÛÛé ©Ûé¶ÛÛ ÈÛÇ©ÛÁõ¶Ûä× 

¸ÛóÛ¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û ÉÛä× ¬ÛÉÛé ? 
  (a) 30 ¤øïõÛ (b) 25 ¤øïõÛ 
  (c) 20 ¤øïõÛ (d) 10 ¤øïõÛ 
  Starcents experiences returns of 5 percent or 45 percent, each with an equal 

probability. What is the return standard deviation for Starcents ? 

  (a) 30 percent (b) 25 percent 

  (c) 20 percent (d) 10 percent 
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 (11) Starcents¶Ûä× …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ 25 ¤øïõÛ ™öé. Jpod¶Ûä× …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ 5 ¤øïõÛ ™öé …¶Ûé ›Ûé”Û¾Û 
ÁõÜÐü©Û þùÁõ 5 ¤øïõÛ ™öé. ›Ûé ©Û¾Ûé …¦øµÛÛ ¸ÛíéÍÛÛ Starcents¾ÛÛ× …¶Ûé ¼ÛÛïõà¶ÛÛ …¦øµÛÛ ¸ÛíéÍÛÛ Jpod¾ÛÛ× 
ÁõÛéïõÛé ©ÛÛé ©Û¾ÛÛÁõÛ ¸ÛÛé¤ÙøºõÛéÅÛàýÛÛé¶Ûä× ›Ûé”Û¾Û ¸ÛóàÜ¾ÛýÛ¾Û ÉÛä× ¬ÛÉÛé ? 

  (a) 20 ¤øïõÛ (b) 17.5 ¤øïõÛ 
  (c) 15 ¤øïõÛ (d) 12.5 ¤øïõÛ 
  Starcents has an expected return of 25 percent, Jpod has an expected return of 5 

percent, and the risk-free rate is 5 percent. You invest half your funds in 
Starcents and the other half in Jpod. What is the risk premium for your            
portfolio ? 

  (a) 20 percent (b) 17.5 percent 

  (c) 15 percent (d)  12.5 percent 

 (12) …éïõ ÁõÛéïõÛ¨ÛïõÛÁõ ©Ûé¶ÛÛ ¸ÛÛé¤ÙøºõÛéÅÛàýÛÛé¾ÛÛ× …éïõ ÈÛµÛä ÁõÛéïõÛ¨Û Š¾ÛéÁõÈÛÛ ¾ÛÛ×•Ûé ™öé. ÍÛÛíé¬Ûà ÈÛµÛä 
¦øÛýÛÈÛÜÍÛÙºõàïéõÉÛ¶Û ¾ÛéÇÈÛÈÛÛ ¾ÛÛ¤éø ©Ûé¨Ûé ©Ûé¶ÛÛ ÐüÛÅÛ¶ÛÛ ¸ÛÛé¤ÙøºõÛéÅÛàýÛÛé ÍÛÛ¬Ûé _______ ÍÛÐüÍÛ×¼Û×µÛ ÈÛÛÇä 
ÁõÛéïõÛ¨Û ¸ÛÍÛ×þù ïõÁõÈÛä× ›Ûéˆ…é. 

  (a) – 1.0 (b) 0.5 
  (c) 0 (d) +1.0 

  An investor is considering adding another investment to a portfolio. To achieve 
the maximum diversification benefits, the investor should add an investment that 
has a correlation coefficient with the existing portfolio closest to _______. 

  (a) –1.0 (b) 0.5 

  (c) 0  (d) +1.0 
 (13) ¦øÛýÛÈÛÜÍÛÙºõàïéõÉÛ¶Û¬Ûà ïõýÛÛ ¸ÛóïõÛÁõ¶Ûä× ›Ûé”Û¾Û Ü¶ÛÈÛÛÁõà ÉÛïõÛýÛ ™öé ? 
  (a) Perceived ›Ûé”Û¾Û (b) ¼Û›ÛÁõ ›Ûé”Û¾Û 
  (c) Systematic ›Ûé”Û¾Û (d) Unsystematic ›Ûé”Û¾Û 
  Which type of risk is essentially eliminated by diversification ? 

  (a) Perceived risk (b) Market risk 

  (c) Systematic risk (d) Unsystematic risk 
 (14) ¶ÛÛ¨ÛÛïõàýÛ ¼Û›ÛÁõ¶Ûà Security Market Line (SML) ______ ÈÛ¨ÛÙÈÛé ™öé. 
  (a) Systematic ›Ûé”Û¾Û …¶Ûé …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ. 
  (b) Unsystematic ›Ûé”Û¾Û …¶Ûé …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ. 
  (c) Systematic ›Ûé”Û¾Û …¶Ûé …¶Û¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ. 
  (d) Unsystematic ›Ûé”Û¾Û …¶Ûé …¶Û¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ 
  A financial market’s security market line (SML) describes 

  (a) the relationship between systematic risk and expected returns. 

  (b) the relationship between unsystematic risk and expected returns. 

  (c) the relationship between systematic risk and unexpected returns. 

  (d) the relationship between unsystematic risk and unexpected returns. 

_________________ 


